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NAME:_________________________
Homework Assignment #9:Regression
1. [C].   A researcher wants to predict amount of time spent worrying in minutes from an Optimism scale.  She finds that for every 3-point increase on the Optimism scale, individuals report spending 2 fewer minutes worrying.  What is the slope of the regression line?

2 [C].  Suppose the correlation between educational attainment and income is .50.  If we predict income from educational attainment, what will be the proportion of the variation in income that is accounted for by educational attainment? _____

3 [C].
If which of the following situtations would the standard error of estimate be smallest and the value of R2 largest?

A.  The correlation between frustration and agression is -.60

B.  The correlation between frustration and aggression is -.50

C.  The correlation between frustration and aggression is .00

D.  The correlation between frustration and aggression is .55

4 [C].  In the context of regression analysis, errors in prediction are based upon squared differences between the ______ scores on ___ and the __________ scores on ___. 

5 [C].  As r increases, what happens to the relative size of the standard error of estimate

and the standard deviation of the Y scores?

A. The standard error of estimate becomes larger than the standard deviation of the Y scores

B. The standard error of estimate approaches the standard deviation of the Y scores

C. The standard error of estimate equals the standard deviation of the Y scores

D.  The standard error of estimate becomes smaller than the standard deviation of the Y scores 

6 [C].  A clinical psychologist develops a new intervention for patients who are experiencing extreme intense pain.  She pretests patients in extreme intense pain, gives them her intervention and finds that a week later, the patients exhibit a decrease in their pain intensity.  She claims that her intervention is effective.  What is the problem with her interpretation of the data and how could she evaluate the efficacy of her intervention in a more rigorous fashion?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

7 [O].  A researcher is interested in predicting number of birthday cards received from extraversion scores for a sample of five people.  She has the following information at her disposal:  




Extraversion 
# of Cards Received
Mean



5


6

Standard

Deviation


1.58


3.16

r = .80

A.
 Compute the regression line for predicting number of cards received 
  from extraversion scores. 

B.
How much variance in number of cards received is explained by extraversion?

C.      Complete the following table.

DATA
Predicted Value

Error

Squared Error

X
Y

7        11

4          3

6          5

3          4

5          7

D.  What is the standard error of estimate?
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